
6.4 Sum and Difference Identities 
 

 

sin A + B( ) = sinAcosB + cosAsinB    tan A + B( ) = tanA + tanB
1− tanA tanB

 

sin A − B( ) = sinAcosB − cosAsinB  

cos A + B( ) = cosAcosB − sinAsinB    tan A − B( ) = tanA − tanB
1+ tanA tanB

 

cos A − B( ) = cosAcosB + sinAsinB  
 
 
 
Find the exact value of the following angles: 

 tan15o      cos 7π
12

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Find the exact value of 
cos −10o( )
sec35o

+ sin35o

csc −10o( )  

 
 
 
 
 
 
 
 
 
 
 
 
 



Given that sinA = 3
5

 is in Quadrant I, and secB = −13
5

 is in Quadrant II, what is the 

value of cos A + B( ) ? 
 
 
 
 
 
 
 
 
 
 
 
 
Solve the equation over the interval 0 ≤ x < 2π  

sin5xcos3x − cos5xsin3x =1  
 
 
 
 
 
 
 
 
 
 
 
 

Find the amplitude, period, and phase shift for y = 5sinπ
3
xsinπ

4
− 5cosπ

3
xcosπ
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